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BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

June, 2022 

(Elective Course : Economics) 

EEC-11 : FUNDAMENTALS OF ECONOMICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions as per instructions given 

in the Section.  

Section—A 

Note : Answer any two questions from this  

Section.   

1. What is the distinction between change in 

demand and change in quantity demanded ? 

Explain with illustrations. Identify the factors 

that affect the demand for a good. 5+15 
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2. What do you mean by the term ‘equilibrium’ ? 

Explain equilibrium of a firm under perfect 

competition in short-run period and long-run 

period.    5+15 

3. What are externalities ? How can you deal with 

externalities ? 5+15 

4. Distinguish between real and nominal rate of 

interest. Explain with the help of the theory of 

rate of interest how is the rate of interest 

determined. 5+15 

Section—B 

Note : Attempt any four questions from this 

Section.  4×12=48 

5. How does consumer attain equilibrium under 

cardinal utility approach ? Give illustrations.  

6. Distinguish between positive and normative 

economics. Which one should be preferred and 

why ? 

7. Explain how the solutions to the fundamental 

problems of an economy are interlinked to each 

other. 
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8. Given the cost function TC = 50 + 0.5q + 0.2q2, 

find out fixed cost, average variable cost and 

marginal cost. 

9. How does a monopoly firm determine the price 

and output of a product in the long-run ? 

10. With the help of Phillips curve, explain the 

trade off between inflation and unemployment.  

11. Distinguish between substitution and income 

effects of a price rise. Give illustration.  

Section—C 

12. Write short notes on any three of the following : 

3×4=12 

(i) Imputed rent 

(ii) Personal income 

(iii) Marginal propensity to consume 

(iv) Substitution effect 

(v) Isocost line  
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5+15

5+15
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TC = 50 + 0.5q + 0.2q2 

(trade off)
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3×4=12

(i) (Imputed rent)

(ii) 

(iii) 

(iv) 

(v) 
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